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53 (EC 603) DISP

Paper : EC 603
Full Marks : 100
Time : Three hours \

The figures in the margin indicaté™, rcmae™.
Jull marks for the questions.

Answer any ten questions.

1. Determine the output sequence of
the system with impulse response

h(n)=[%)n u(n) and input

x(n)=4xe”™?; -x<n<e. State the
necessary theory. 10

2. Calculate the circular convolution of two
sequences x,(n)={1,-1,-2,3,-1} and
x,(n)={1,2,3} using graphical method.
Hence discuss the need for circular
convolution. 8+2

Contd.
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